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1. f(z) DX (—o00, 00) THFHETH 5 L 12 a,b DIEZED K. 7272 LEI LG AIZHFITX TL W,
(SH15730%, A#2320%, B35 30%, C#54)

4 (z<-2) —z2+1 (2<0)
(1 f@)=1¢ az+b (-2<z=<1) (2 fz)= a (0<x<3)
1 (1<z) br—3b (3<ux)
ﬁ X X a X
" f(x){ T (e #1) @ f(w){ +l (z<0)
a (z=1) 27 (0<x)
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2.

(1)

F(z) DX (—00, 00) THFETH 2 X 912 a,b DR ED k. 727 LIEHABAIZHIZ X T,
(SH1740%, A2 208, B#34r30%, C#547)

fx) =

-7 (x£-3)
ar+b (-3<x=2) (2)
3 (2<x)
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f(z) DX (—o00, 00) THALETH 5 & 912 a,b DIEZED K. 7272 LEH 2B A IXHIC X TX W,
(SHk14r30%, Afk2320%, B33 30F, C#k57)
- { BAXR [, 8] Tl EALUF i, %39
BAXR (0, B) Tak D ARFLBX DI ORI, 2#7.
XoT, K (—00,00) £ 1E 2 DEHTHZEVIZETH .

* B (V5 7h2Bh>TVnBZ L)

f(x) Bz =a THifE < ;lir}lf(x) BEEL, fla) &—BT 5.
WA DHRSE T 5L THbH 5.

WA 2 ERIE e — § iwikic X 5.

4 (z£-2) —22+1 (2<0)
1 f@)=9 az+b (—2<z<1) 2 fl2)= a (0<z<3)
1 (1<) bx—3b (3<uz)
r=—-2TCHliE & 4=-2a+0b r=0THl & 0+1=a
< a=1

r=1TCHfE © a+bdb=1
r=3TCHft & a=bx3-3b
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AL SRRz RSC L, (a,b) = (—1,2) &

NS DFERFICHLTERNDT, X BZX

22 —1
- 1 <0
G jw=q] o1 7Y W gw={ T =Y
a (z=1) 27r  (0<uz)
;ﬂf@):;ﬂ%:lﬂ@ﬂ)ﬁ fFO)=0+a=a »o z<0CHifk
f)=a 0<z DEE,
. : 1\=
Jim ()= lm ()" =0

DED#HERIEG, a=2 &R
M EDOHRE»S, a=0 -BEZX

22 —1 N
pAS po— F2x#A1THa005,

r=1THERETIIR VI LIcHER
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F(z) DX (—00, 00) THFETH 2 X 912 a,b DR ED k. 727 LIEHABAIZHIZ X T,
(SH1730%, A2 208, B#34r30%, C#547)

-7 (z<-3) —z?+a (z<-1)
(1 fla)=9q az+b (-3<z<2) 2 flx)= 1 (-1<z<3)
3 (2<x) bxr+2 (3<ux)
r=-3Tlfit © —-T=-3a+b r=—-1THf{ & —1+a=1
< a=2

r=2CHl & 2a+b=3

x =3 Tt < =3b+2
By HEREML L, (a,b) = (2,—-1) &R & b:_%

2N DERHRIL TE R VLD T,

(a,b) = (2, —é) ER

3

x(xi:l) (z£02Dx#1) @ o) = 27 (z<0)
B)  flx)= a (2=0) zt+a (0=x)
b (z=1)

f0)=04+a=a > 0Lz CTHfE
-z _ (@t lz@@-1)

z(x —1) z(x —1)

r<0DEE, =t EBL L,
lim f(z) = lim (v +1) =1 Jm, f(@) = lim 2% = o0
lim1 flz) = lim1 (z+1)=2 M EofER»rs, x  BFZX

NI

MEOERD S,  (a,b) = (1,2) B
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